
∗ Seal kit includes !4. Order 
the seal kit, based on 
each bore size.




12
16
20
25
32
40
50

Contents

How to

Order

Single acting/Spring return



CQ2B12-S-PS


CQ2B16-S-PS


CQ2B20-S-PS


CQ2B25-S-PS


CQ2B32-S-PS


CQ2B40-S-PS


CQ2B50-S-PS


Kits includes item !4 from the above table.



Single acting/Spring extend


CQ2B12-T-PS


CQ2B16-T-PS


CQ2B20-T-PS


CQ2B25-T-PS


CQ2B32-T-PS


CQ2B40-T-PS


CQ2B50-T-PS


Kits include items !4, !5, !6 from the above table.

Replacement Parts/Seal Kit
Bore size


(mm)

∗ Seal kit includes !4, !5, !6.
Order the seal kit, based on 
each bore size.

∗ Since the seal kit does not include a grease pack, order it separately.


 Grease pack part no.: GR-S-010 (10 g)

Construction

Spring return Spring extend

With boss on head end Rod end male thread Built-in one-touch fittings

Port size

M5 x 0.8

∗

Component Parts
No.
1
2

3

4

5
6
7
8
9
10
11
12
13

Description
Cylinder tube
Piston

Piston rod

Collar

Retaining ring
Bushing
Return spring
Bronze element
Retaining ring
Plug with fixed orifice
Rod end nut
Centering location ring
One-touch fitting

Note
Hard anodized

Chromated
ø12 to ø25


ø32 to ø50, Hard chrome plated

ø12 to ø40, Anodized


ø50, Chromated, Painted

Phosphate coated


ø50
Zinc chromated

Port size Rc1/8, 1/4

Port size M5 x 0.8

Nickel plated

ø20 to ø50, Anodized

ø32 to ø50



∗ On spring extend (Type T), piston and piston rod are integrated (stainless steel).

 (Except ø12 and ø16 of built-in magnet type)

Replacement Parts
No.
14
15
16

Description

Piston seal
Rod seal
Gasket

Material

NBR
NBR
NBR

Note




ø12, ø16, ø20, ø25, ø32
ø40, ø50

Bore size Stroke20 ClQ2B S
T

Copper and
fluorine-free series

For preventing the influence of copper ions or halogen ions
during CRT manufacturing processes, copper and fluorine
materials are not used in the component parts.

(M)Z

Copper and Fluorine-free Series (For CRT Manufacturing Process)

Specifications
Bore size (mm)

Action


Proof pressure


Max. operating pressure


Rubber bumper

Piping

Piston speed

Mounting

Auto switch

Single acting, Single rod


1.5 MPa


1.0 MPa


None


Pipe thread


50 to 500 mm/s


Through-hole


Mountable





12 16 20 25 32 40 50

S
ta

n
d

ar
d

L
ar

g
e

B
o

re
S

iz
e

L
o

n
g

S
tr

o
ke

N
o

n
-r

o
ta

ti
n

g
R

o
d

A
xi

al
P

ip
in

g
A

n
ti

-l
at

er
al

L
o

ad
W

it
h

E
n

d
L

o
ck

W
at

er
R

es
is

ta
n

t
A

u
to

S
w

it
ch

W
it

h
A

u
to

S
w

it
ch

M
ad

e
to

O
rd

er

42

Series CQ2Compact Cylinder: Standard

Single Acting, Single Rod

Material
Aluminum alloy
Aluminum alloy
Stainless steel
Carbon steel

Aluminum alloy
Aluminum alloy casted


Carbon tool steel
Bearing alloy
Piano wire

Sintered metallic BC
Carbon tool steel

Alloy steel
Carbon steel

Aluminum alloy
—



BA

BA

Copper and Fluorine-free Series (For CRT Manufacturing Process)

12
16
20
25
32
40
50

Contents

How to
Order

Kit no.
(Single acting/Spring return)

Kit no.

(Single acting/Spring extend)

Replacement Parts/Seal Kit
Bore size

(mm)

CQ2B12-S-PS


CQ2B16-S-PS


CQ2B20-S-PS


CQ2B25-S-PS


CQ2B32-S-PS


CQ2B40-S-PS


CQ2B50-S-PS

CQ2B12-T-PS


CQ2B16-T-PS


CQ2B20-T-PS


CQ2B25-T-PS


CQ2B32-T-PS


CQ2B40-T-PS


CQ2B50-T-PS


∗ Seal kit includes !4. Order 
the seal kit, based on 
each bore size.

∗ Seal kit includes !4, !5, !6.
Order the seal kit, based on 
each bore size.

∗ Since the seal kit does not include a grease pack, order it separately.


 Grease pack part no.: GR-S-010 (10 g)

Construction

Spring
return

Port size
M5 x 0.8

Spring
extend

A-A section (Port on rod end) B-B section (Port on head end)

A-A section (Port on rod end) B-B section (Port on head end) Rod end male thread

No.
1
2

3

4

5
6
7
8
9
10
11
12
13

Component Parts
Description

Cylinder tube
Piston

Piston rod

Collar

Retaining ring
Bushing
Return spring
Bronze element
Retaining ring
Plug with fixed orifice
Steel ball
Hexagon socket head set screw

Rod end nut
∗ On spring extend (Type T), piston and piston rod are integrated

(stainless steel).

Material
Aluminum alloy
Aluminum alloy
Stainless steel
Carbon steel

Aluminum alloy
Aluminum alloy casted
Carbon tool steel

Bearing alloy
Piano wire

Sintered metallic BC
Carbon tool steel

Alloy steel
Carbon steel
Alloy steel

Carbon steel

Note
Hard anodized

Chromated
ø12 to ø25


ø32 to ø50, Hard chrome plated

ø12 to ø40, Anodized


ø50, Chromate, Painted
Phosphate coated

Zinc chromated


Port size Rc1/8, 1/4


Port size M5 x 0.8




Nickel plated
Nickel plated

∗

No.
14
15
16

Description
Piston seal

Rod seal

Gasket




Material

NBR
NBR
NBR

Note

ø12, ø16, ø20, ø25, ø32
ø40, ø50

Bore size Stroke20 CQP2B S
T(M)

Copper and
fluorine-free series

For preventing the influence of copper ions or halogen ions
during CRT manufacturing processes, copper and fluorine 
materials are not used in the component parts.

Specifications


 Bore size (mm)


Action

Proof pressure

Max. operating pressure


Rubber bumper

Piping

Piston speed

Mounting


Auto switch

Single acting, Single rod


1.5 MPa


1.0 MPa


None


Pipe thread


50 to 500 mm/s


Through-hole


Mountable

12 16 20 25 32 40 50

Kits include item !4 from
the table.

Kits include items !4, !5, !6
from the table.

115

Series CQP2



BA

BA

Port size
M5 x 0.8

Auto switch Auto switch

Axial Piping: Single Acting, Single Rod

Series CDQP2
With Auto Switch

12
16
20
25
32
40
50
12
16
20
25
32
40
50

5

55

92

121

178

217

323

—

61

92

126

184

228

349

—

10

63

100

135

191

242

349

558

69

100

140

197

253

375

600

15

—

—

—

—

—

—

—

—

—

—

—

—

—

—

Bore size (mm)Action

S
pr

in
g

re
tu

rn
S

pr
in

g
ex

te
nd

Cylinder stroke (mm)

20

—

—

—

—

—

—

641

—

—

—

—

—

—

683

50
53


32

40
27


17

32
26

17

25
12

8

20
6

4

16
3

2

12
1.5

1

12
16
20
25
32
40
50

CQ2B12-S-PS

CQ2B16-S-PS

CQ2B20-S-PS

CQ2B25-S-PS

CQ2B32-S-PS

CQ2B40-S-PS

CQ2B50-S-PS

CQ2B12-T-PS

CQ2B16-T-PS

CQ2B20-T-PS

CQ2B25-T-PS

CQ2B32-T-PS

CQ2B40-T-PS

CQ2B50-T-PS

Contents

How to
Order





Refer to the below pages for further information on auto switches.
Auto switch proper mounting position and its mounting height�

Minimum stroke for auto switch mounting


Operating range�

Auto switch mounting brackets/Part no.

P.123 to 127

Kits include item !4 from
the table.

Kits include items !4, !5, !6
from the table.

∗ Seal kit includes !4. Order 
the seal kit, based on 
each bore size.

∗ Seal kit includes !4, !5, !6.
Order the seal kit, based on 
each bore size.

Kit no.

(Single acting/Spring return)

Kit no.

(Single acting/Spring extend)

Replacement Parts/Seal Kit
Bore size

(mm)

∗ Since the seal kit does not include a grease pack, order it separately.


 Grease pack part no.: GR-S-010 (10 g)

Weight

Weight

(g)

Add each weight of auto 
switches when auto 
switches are mounted.

(g)Additional Weight
Bore size (mm)



Male thread


Nut

Calculation: (Example) CDQP2B32-10SM

• Basic weight:	 CDQP2B32-10S	········	242 g

• Additional weight:	Rod end male thread	···	43 g

	 285 g

Rod end 

male thread




Spring return Spring extend




Construction

A-A section (Port on rod end) B-B section (Port on head end)A-A section (Port on rod end) B-B section (Port on head end)

No.
1
2

3

4

5
6
7
8
9
10
11
12
13
14
15
16

Component Parts

∗ On spring extend (Type T), piston and piston rod are integrated (stainless steel).

Description
Cylinder tube
Piston∗

Piston rod∗

Collar

Retaining ring
Bushing
Return spring
Bronze element
Retaining ring
Plug with fixed orifice
Steel ball
Hexagon socket head set screw

Magnet
Piston seal
Rod seal
Gasket

Material
Aluminum alloy
Aluminum alloy
Stainless steel
Carbon steel

Aluminum alloy
Aluminum alloy casted
Carbon tool steel

Bearing alloy
Piano wire

Sintered metallic BC
Carbon tool steel

Alloy steel
Carbon steel
Alloy steel

—
NBR
NBR
NBR

Note
Hard anodized

Chromated
ø12 to ø25

ø32 to ø50, Hard chrome plated
ø12 to ø40, Anodized

ø50, Chromate, Painted
Phosphate coated

Zinc chromated

Port size Rc1/8, 1/4

Port size M5 x 0.8

Nickel plated

S
ta

n
d

ar
d

L
ar

g
e

B
o

re
S

iz
e

L
o

n
g

S
tr

o
ke

N
o

n
-r

o
ta

ti
n

g
R

o
d

A
xi

al
P

ip
in

g
A

n
ti

-l
at

er
al

L
o

ad
W

it
h

E
n

d
L

o
ck

W
at

er
R

es
is

ta
n

t
A

u
to

S
w

it
ch

W
it

h
A

u
to

S
w

it
ch

M
ad

e
to

O
rd

er

116


